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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] ] ] I I
3500 —>— EcFzExp :
3000__—)(— ECdef :
—>— water_ec |
2500 S |44ttt """"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""
M I 50000000000
2000 :
|
1500 I
1
1
1000 1
1
500 Warning: col| [ EcFgroil, 'EcPltng’] is missing

0 25 50 75 100 125 150 175
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500 ~
—@— ECO
4000
3500 -
3000 A
2500 -
ning: col | ['FVOEC’'] is missing
0 5 10 15 20 25 30 35



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

6.6 -

6.4

6.2

6.0

5.8

5.6

—e— PHC
—e— PHI

Warning: col |[' F®PH 1Y

issing

0

10

15

20

25

30

35




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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